Candle Center - Infinite Precalculus
Sum and Difference ldentities

Find the exact value of each.

1) sin-15
3) 00317_7:
12
5) tan 105
tan%—tanln—g
7)

1 +tan 8?ntan l

tan 76 + tan 164
1 —tan 76tan 164

9)

Name

Date

2) sin 165

4) cos—105

6) tan —
12

8) cos 10cos 35 — sin 10sin 35

10) sin T cos n + cos Zsin n
9 9 9 9

Period



Simplify.
11) sin —66cos 46 + cos —64sin 40 12) sin @cos 36 + cos #sin 36

13) cos 3xcos —4x + sin 3xsin —4x 14) tan u + tan 4u
1 —tan utan 4u

Write each trigonometric expression as an algebraic expression.

. 2 16) sin (sin™' 4x + cos™ x
15) sin (cos‘1 g —sin™ 2x) ) sin )

17) cos (tan™' 2x + sin™' 0) 18) tan (tan*l 1 —tan™! \/;)

Verify each identity.

19) sin (% + 6’) =cos 0 20) cos (r + 0) = —cos 6
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Find the exact value of each.

1) sin-15

V2-s

4

3) cos 17
12

Va-s

5) tan 105

-3

tan %n —tan 1“—8
7)

1 +tan 8?ntan l

V3

tan 76 + tan 164
1 —tan 76tan 164

V3

9)

Name

Date Period

2) sin 165

Js-2

4

4) cos—105

V2 -+/6

4

6) tan —
12

2+\/§

8) cos 10cos 35 — sin 10sin 35

V2

2

10) sin T cos n + cos Zsin n
9 9 9 9

V3

2



Simplify.
11) sin —668cos 46 + cos —60sin 460
sin —26

13) cos 3xcos —4x + sin 3xsin —4x

cos 7X

12) sin @cos 36 + cos #sin 36
sin 46

tan u + tan 4u
1 —tan utan 4u

14)

tan 5u

Write each trigonometric expression as an algebraic expression.

. 2.
15) sin (cos‘1 g —sin™! 2x)

“oxV2 + V2 - 82

2

17) cos (tan™! 2x + sin~! 0)

Nax? + 1

4x% + 1

Verify each identity.

19) sin (g + 6’) =cos 4

sin (TE + 6?)
2

. T T .
=sin —cos & + cos Esm 0

=cos & + 0sin @
=cos 4

16) sin (sin™! 4x + cos™" x)

4x2 + 1= 17x2 + 16x°

18) tan (tan*1 1 —tan™! \/;)

1—2V;+x

1 —x

20) cos (n + 6?) =—C0S &

cos (n + 0)

= c0s cos @ — sin wtsin 4
=-—cos @ — 0sin @

=—cos 4



